	Commodity: 20044, 20070, 20085, 20087, & 93618	Date: 04/20/2	022										
	A22-20080 EMERGENCY MEDICAL SERVICES TACTICAL UNIFORMS (ACCPR)	Requisition No Bid Opening: or	4/20/2022		N		SUPPLES		O	RIGIA			
	F.O.B:	Closing Date		Ž	8	, 0	437			RIGIN	AL		
		Purchase Period:		BATES & TL.		BARWEY'S POLICE SUPPLIES							
Item	Sealed BidX_ Price InquiryDefinite Quantities	ESTIMATED	UNIT OF	UNIT	IOIAL	UNIT	IOIAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
No.	DESCRIPTION OF THE PROPERTY OF	QUANTITY	MEASURE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
0001	Slick Pants, per specification. Propper® Men's EdgeTec Slick Pants style #F5906, or approved equivalent. Sizes 28 – 36 State Brand and Product Bid	3500	EACH	\$41.95	\$146,825.00	\$22.00	\$77,000.00						
0002	Slick Pants, per specification. Propper® Men's EdgeTec Slick Pants style #F5906, or approved equivalent. Sizes 38 – 46 State Brand and Product Bid	3500	EACH	\$41.95	\$146,825.00	\$22.00	\$77,000.00						
0003	Slick Pants, per specification. Propper® Men's EdgeTec Slick Pants style #F5906, or approved equivalent. Sizes 48 – 56 State Brand and Product Bid	3500	EACH	\$41.95	\$146,825.00	\$22.00	\$77,000.00						
0004	Slick Pants, per specification. Propper® Women's EdgeTec Slick Pants style #F5910, or approved equivalent. Sizes 2 – 8 State Brand and Product Bid	3500	EACH	\$41.95	\$146,825.00	\$22.00	\$77,000.00						
0005	Slick Pants, per specification. Propper® Women's EdgeTec Slick Pants style #F5910, or approved equivalent. Sizes 10 – 16 State Brand and Product Bid	3500	EACH	\$41.95	\$146,825.00	\$22.00	\$77,000.00						

	Commodity: 20044, 20070, 20085, 20087, & 93618	Date: 04/20/20	022										
	A22-20080 EMERGENCY MEDICAL SERVICES TACTICAL UNIFORMS (ACCPR)	Requisition No Bid Opening: or	4/20/2022		Ŋ		CE SUPPLIES		_	ORIGI	NAI		
	F.O.B:	Closing Date		Ž	4	ąò	437				-		
	Delivery Requirements:	Purchase Per	iod:	BATESETH		J. S. A. W. F. 'S							
	Sealed BidX_ Price InquiryDefinite Quantities			8		Ø'							
Item No.	DESCRIPTION	ESTIMATED QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
0006	Slick Pants, per specification. Propper® Women's EdgeTec Slick Pants style #F5910, or approved equivalent. Sizes 18 – 24 State Brand and Product Bid	3500	EACH	\$41.95	\$146,825.00	\$22.00	\$77,000.00						
	TOTAL FOR GROUP "SLICK PANTS" (Items 0001 – 0006 must all be bid for consideration of award)				\$880,950.00		\$462,000.00						
0007	Men's Lightweight Tactical Dress Shirts, per specification. Propper® #F5311-50, or approved equivalent. Sizes: X-Small, Small, Medium, Large, and X-Large State Brand and Product Bid	3500	EACH	\$45.95	\$160,825.00	\$32.00	\$112,000.00						2
0008	Men's Lightweight Tactical Dress Shirts, per specification. Propper® #F5311-50, or approved equivalent. Sizes: XLT through 3X-Large State Brand and Product Bid	3500	EACH	\$45.95	\$160,825.00	\$32.00	\$112,000.00						
0009	Men's Lightweight Tactical Dress Shirts, per specification. Propper® #F5311-50, or approved equivalent. Sizes: 4X-Large through 5X-Large State Brand and Product Bid	3500	EACH	\$45.95	\$160,825.00	\$32.00	\$112,000.00						

	Commodity: 20044, 20070, 20085, 20087, & 93618	Date: 04/20/20	022										
		Bid Opening: or	4/20/2022		ip _{EN}		F SUPPLES			ORIGI	VAL		
		Closing Date Purchase Per	iod:	BATESETA	911.	BARNEYSPO	TICE SUPPLIES						
Item No.	DESCRIPTION	ESTIMATED QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
0010	Women's Tactical Shirts, per specification. Propper® #F5304-50, or approved equivalent. Sizes: X-Small, Small, Medium, Large, and X-Large State Brand and Product Bid	3500	EACH	\$45.95	\$160,825.00	\$32.00	\$112,000.00	71102	111101	71102	111101	7 1102	THOL
	TOTAL FOR GROUP "LAPD NAVY (SHORT-SLEEVE) SHIRTS" (Items 0007 – 0010 must all be bid for consideration of award)				\$643,300.00		\$448,000.00						
0011	Men's Lightweight Tactical Dress Shirts, per specification. Propper® #F5312-50, or approved equivalent. Sizes: X-Small, Small, Medium, Large, and X-Large; Length: Regular and/or Long State Brand and Product Bid	3500	EACH	\$47.95	\$167,825.00	\$34.00	\$119,000.00						
0012	Men's Lightweight Tactical Dress Shirts, per specification. Propper® #F5312-50, or approved equivalent. Sizes: XLT through 3X-Large; Length: Regular and/or Long State Brand and Product Bid	3500	EACH	\$47.95	\$167,825.00	\$34.00	\$119,000.00						

	Commodity: 20044, 20070, 20085, 20087, & 93618	Date: 04/20/20	022										
	A22-20080 EMERGENCY MEDICAL SERVICES TACTICAL UNIFORMS (ACCPR)	Requisition No Bid Opening: or	4/20/2022				TOTAL TOTAL			ORIGI	NAL		
	F.O.B:	Closing Date		BATESETH	I GOE!	%	, CF Si						
	, ,	Purchase Per	iod:	A TES &		SAPWEY.S							
Item	Sealed BidX_ Price InquiryDefinite Quantities	ESTIMATED	UNIT OF	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
No.	DESCRIPTION	QUANTITY	MEASURE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
0013	Men's Lightweight Tactical Dress Shirts, per specification. Propper® #F5312-50, or approved equivalent. Sizes: 4X-Large through 5X-Large; Length: Regular and/or Long State Brand and Product Bid	3500	EACH	\$47.95	\$167,825.00	\$34.00	\$119,000.00						
0014	Women's Tactical Shirts, per specification. Propper® #F5305-50, or approved equivalent. Sizes: XX-Small, X-Small, Small, Medium, Large, and X-Large State Brand and Product Bid	3500	EACH	\$47.95	\$167,825.00	\$34.00	\$119,000.00						
0015	Women's Tactical Shirts, per specification. Propper® #F5305-50, or approved equivalent. Sizes: 2X-Large State Brand and Product Bid	3500	EACH	\$47.95	\$167,825.00	\$34.00	\$119,000.00						
	TOTAL FOR GROUP "LAPD NAVY (LONG-SLEEVE) SHIRTS" (Items 0011 – 0015 must all be bid for consideration of award)				\$839,125.00		\$595,000.00						
Vendors		TOTAL AMOUNT			\$2,363,375.00		\$1,505,000.00						
Advertise	(X) Bid Bond () Ins ()	CASH DISCOUNT	•		\$0.00		\$0.00						

	Commodity: 20044, 20070, 20085, 20087, & 93618	Date: 04/20/2	022										
	A22-20080 EMERGENCY MEDICAL SERVICES TACTICAL UNIFORMS (ACCPR)	- Requisition No Bid Opening: or	o: 4/20/2022	I	Ŋ		LICE SUPPLES		_	ORIGI	INAL		
	F.O.B:	Closing Date		j.	Nadoll.	3	40h				16		
	Delivery Requirements:	Purchase Per	iod:	BATES		PWEYSA							
	Sealed BidX_ Price InquiryDefinite Quantities			Ø	N/2	Ø							
Item No.	DESCRIPTION	ESTIMATED QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE								
Special (Conditions	NET AMOUNT			\$2,363,375.00		\$1,505,000.00						
Buyer: DB	Date x/xx/2022	DELIVERY			\$0.00		\$0.00						